Algebra I Name Rey
Section 1-4 Writing linear equations

Skills Review

Write an equation in slope-intercept form for each graph.
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Write an equation in slope-intercept form for the line described. ~1G=b
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9) passes through (-4, 2), parallel to the line whose equation is y=—x+5.
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10) passes through (3, 1), perpendicular to the line whose equation is y = -3x + 2.
I R N

| ==3

\]::}éx—% b
1= 3(2)+b
1= 8 +h
Wem b =0

-1
* Y .-' 3

% +0

11) passes through (1, -1), parallel to the line that passes through (4, 1) & (2, -3).
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12) passes through (8, -6), perpendicular to the graph of 2x -y =4.
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13) passes through (2, -2), perpendicular to the graph of x + 5y =6.
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14) passes through (6, 1), parallel to the line with x-intercept -3 and y-intercept 5.
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